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Nole; There afe three sections of the paper, A, B & C. Attempt Section - A on the same paper and return It 10 the
Superintendant within the given time. No marks will be awarded for cutling, arasing or aver wntmg Mcbile phane seic. are nol
allowad in the examination hall.
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Tima: 20 Mins ' Section “A” Marks: 15
Wiite the correct option i.e. A, B, C or D in the empty box provided opposite each part.
Aprocessissaidtobein ......... state ifit is wai{ing for some events to happen.

A. Running B. Ready C. Block D. Exit o
Which of the following is not a valid variable name in C++?
A x1 ' B.y1 C. xy1 ixly -
- 1
Which header file must include in C++ program to use cin() function?
| I—

vi.
vil.
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xi.
Xii.
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Xlv.

A, <stdio.h> B. <conio.h> C. <isotream.h>
Integer constant takes .............. bytes of memory
A2 - B.4 C.8

Conditional operator is rapresented by ...cvv.vieeeiiieensins
A # B. % C.7

The equal expression of a+ =bis ... 00 0
A.a=ath Bb=b+a C.asb

Each element in one dimensional array has its own ...,

A. Index B. Two index _ B. Three index
A function returns ........... value(s).
Al _ B.2 B.3

Loop within another loop is callad ................. )
A, For loop B. Nested loop C. lhner loop

in a[5] = {3,2,4,8,7}, the cout<<a[3]; wil dispiay ..................

A3 B.2 c.4
Acdlassconsistof ...
A. Datamember  B. Member function C. Both A and B

D. Al of these

-

D.@

D.a+h=a

). Zaro index

D. 4

£. Outer loop

0.8

[J. None

Which of the following is a valid case statemenl in a switch statement?

A, case 1. B. case a+ b C. case a<b:

For a=2 and b=2 which of the following evaluates as frue?

~Aasb B.a<b C.a>h

......function Is used if you want to end a line.
A. endin B. endi C. endline

......i5 & conditional statemeant.

A if statement  B. Printf() statement ' C. Seanf() statemant

-0, case a=b;
D, a<=b
D. All of these

~ D. None of these
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. : Section “B" . | © Marks: 36
Q2" Attempt any NINE parts. Each part carries equal marks.
i. What Is meant by multiprocessor operating system? N

li. What is flowchart? Write down its various symbols.
_ i, Discuss conditional operator.
iv.  Write a short note on beak and continue statements.
v. What is the difference betwaen local variable and global variable?
vi. What is the difference between while loop and do while foop?
vil. Write a program in C++ to print the table of a given number.
viil, What are the modes of opening a file in C++7
x.  What is the purpose if inline function?
i X, What is the purpose of using pointer‘?
xi. What is the purpose of cin() and cout() functions in C++? N
ixii.  How an array be initialized in C++7? . ' : S

| _ l | Section ‘:C” ' Marks: 24

Note: Answer any THREE questions. Each question carries 8 marks.
Q.3 What is real time operating system? Explain lts features.

tFA L Write down the syntax of switch statement, -

ii. Write a program that read an alphabet and print an-the screen whether it is_ vowel or
L consonant. _ _ o
5 Write a short note on: "~ . )

I Constructor and desiructor

| il Private access specifier and public access specifier



